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-actoring Special Cases

Critique & Explain Se

C. Find two other pairs

A. Analyze each factored expression to see if both are equivalent to the given 1

th and Bailey are given the polynomial 8x” +48x + 72 to factor.
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5 of binomials that are different, but whose products are \equal

A. What is the
factored form of

x* +14x+49?
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EXAMPLE 1 - Understand Factoring a Perfect Square
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A perfect-square trinomial resuEts when a bmomia! is { uared. The first and last terms are perfect
squares The middle term is twice the product of the first and last terms of the binomial.
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B. What is the factored form of 9x” —30x+257? (3;) | C r=
Try it. Factor each trinomial. o
2 b. x* — 8x+ 16
2% 4 2-2%3 + 3 »(zx+ | X=2.4yw+ Y = (X+
EXAMPLE 3 - Factor a Difference of Two Squares. |
A. What is the factored form of Recall that a b:nom:ai in the form x? + a® is called the dlfference of two squares.
x-97?
xx gz‘:(xﬁgjﬁx-i-%) (a—b)(a+b)-—a — ab + ab — b%=a — b?
B. What is the factored form of 4x* —817? 2_7’7(2'._ GIL (2x-9 £2%%9)
Try it. Factor each expression. a. x% — 64 b. 9x2 — 300
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EXAMPLE 4 - Factor a
What is the factored f

Difference of Two Squares
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